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EY&H A T Let's coding!

71 void main(void)

o

O int x=5;
u int *p;
O] P=&X;

O printf("x=%d , *p=%d ¥n",x,*p);

al}
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int x=5;
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int *p;
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char *pChar;//XFERA 3% E
long *plong;// AV BRA22EF
void *pVoid;//IRAF RA V3 ZEE
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pP=&xX;
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printf("x=%d , *p=%d ¥n",x,*p);
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7 int hogehoge(int input)

al

O input= ="

O return === "

o}

71 void main(void)

SR
O int x=123;
[ hogehoge(x);

o}
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“NITEELTOREULHLELS, (call by value)
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input=

hogehoge(in’r input)

e BinputMRABRZE B L TEXIZII RSN,
e, RS 5T=0I2 KR, 2%,
. IZEHWLANWAEFIGLATTITE,



EY&H A T Let's coding!

o void swap(int* x, int* y)
oA

0O int tmp;

O tmp="x;

O *x=*y;

0 *y=tmp;

oo}

printf("a=%d , b=%d¥n",q,b);

o void main(void)

-

O int a=3,b=9;

O printf("a=%d , b=%d¥n",a,b);
O swap(&a,&b);
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swap(&a,&b);
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Void swap(int *x,int *y)

tmp="%*x;
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Void swap(int *x,int *y)
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Void int *x,int *
. YO! swap(int *x,int *y)

0 *y=tmp;
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0 b=%*y=tmp=3
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